CHAPTER IV
INVESTIGATION AND DISCUSSION

A. Description of the Result Research

The research had been conducted since Afribf42011 to April
12" of 2011. This research had been carried throughstips. They
involve try out tests, pre-test, twice times treatinand post test.

To find out the effectiveness of using team wordkieg, the
researcher identified some result, they are: Tlgesof students before
treatment, the score of students after treatmieatdifferences between pre
test and post test score of students and from ifferethces of students’
atmosphere between the students who are taughtsing tseam word-
webbing and the students who are not taught bygusam word -webbing
in teaching and learning process, they are in tagcleading news item
text, especially in MA Darul Amanah Sukorejo Kendal

The researcher did an analysis of quantitative.dbtee data is
obtained by giving test to the experimental clasd eontrol class after
giving a different treatment both classes. Theexttbjof this research were
divided into three classes. They are experimedaisco(XA), control class
(XD) and try out class (XC).

Before the test was used an instrument to colleetdata, it had
been tried out first to the students in tryout glahe researcher prepared
35 items as the instrument of the test. From 3bitems of tryout, some
items were chosen as the instrument of the test. dhoosing of the
instrument had been done by considering many cagsydike: validity,
reliability, discriminating power and degree of ttesfficulty. Test was
given before and after the students follow therleay process that was
provided by the researcher, this test was given dontrol and
experimental class.

Before the activities were conducted, the researdbirmined the

materials and lesson plan of learning. The expearinoéass learn using
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team word-webbing, while the control class withaused team word-
webbing.

After the data were collected, the researcher aedlyt. The first
analysis was to get a good instrument for investiga Try-out was
conducted for students in the class C of the tegmthr of MA Darul
Amanah Sukorejo Kendal and the respondents werguzlents. The data
or diagram analysis of try-out finding was in apgien
The Data Analysisand Test of Hypothesis
The Data Analysis

a. The Data Analysisof Try-out Finding

This discussion covers validity, reliability, levef difficulty and

discriminating power.
1) Validity of Instrument

As mentioned in chapter lll, validity refers to @asurement which
shows validity of the instrument. In this studyenit validity is used to
know the index validity of the test. To know thdiday of instrument, the
researcher used the Pearson product moment fotmalzalyze each item.

It is obtained that from 35 test items; there &dekt items which
are valid and 5 test items which are invalid (318, 20, 33). They are to
invalid with the reason the computation result lo¢it r xy value (the
correlation of score each item) is lower than thgje value.

The following is the example of item validity contption for item
number 1 and for the other items would use the damaula.

N=20 >VY=473

YXY=414%X2=15

YX=15 YY2=13031

. N> XY= X)QY)
TN X - N Y - (7]
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(= (20x414) - (15x473

¥ J{20x15-157{20x 13031~ 47F}
. (8280 - (7099

¥ {300~ 225 260620~ 223729

r 1185

¥ 75 Y3689}

r 1185

¥ /2766825

1185

™ 166:.37

r, = 0712

From the computation above, the result of computialidity of
the item number 1 is 0.712. After that, the redearconsulted the result
to the table of r Product Moment with the numbeswalject (N) = 20 and
significance level 5% it is 0444. Since the refltthe computation is
lower than r in table, the index of validity of theem number 1 is
considered to be invalid. The list of the validifyeach item can be seen in
appendix.

2) Reliability of Instrument

A good test must be valid and reliable. Besides itidex of
validity, Reliability refers to the consistencytest scores. Besides having
high validity, a good test should have high religptoo.

Alpha formula is used to know reliability of testK - R. 20

o= 22

Calculation result of ; is compared with . of product moment

by 5% degree of significance. If,ris higher than [, ., the item of

guestion is reliable.

propetition of students whe give the right answer _ 15
p= ! =—==0.75

numbers of students 20
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propesition of students whe give the wrong answer _ 5
g = : ===0.25

P T e 2
numogrs U JF slugGentcs

Lpq=7,083

T
T el L 1)
By

st- =
N

13031 - 2
0

20

pppppp

13031 -11186.45
Z0

184455
20
= 92.2275

From formula above, we can analyze;

11 7 ( = ][l_ E;EE:&..]

. 35-1.
= (1,09)(1 — 0,00076)
= 1,022

From the computation above, it is found out that(the total of
reliability test) is 1,022, whereas the number objscts is 35 and the
critical value for r-table with significance levéPo is 0.444. Thus, the
value resulted from the computation is higher tlitancritical value. It
could be concluded that the instrument used inrgsarch is reliable.

3) Degreeof Test Difficulty

The following is the computation of the degreeedttdifficulty for

item number 1 and for the other items would usddhaula.

B
JS

P = 0,0G p < 030Difficult question
P=0,3k p< 070Sufficient
P=0,7G¢ p=< 100Easy.

B=15

JS=20
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P=3

=0,75

It is proper to say that the index difficulty ofethtem number 1
above can be said as the easy category, becausaltidation result of
the item number 1 is in the interval 0.708[1<1.00. After computing 35
items of the try-out test, there are items are icemed to be easy and
items are sufficient. The whole computation residldifficulty level can
be seen in appendix.

4) The Discriminating Power

As mentioned in chapter Ill, The discrimination mowmeasures
how well the test items arranged to identify thiéedences in the students’
competence. To do this analysis, the number ofotty-subjects was
divided into two groups, upper and lower groups.

D= ?—2 —?—: =P, - PR,

The criteria are:

D < 0.2 is poor.

0.2<D<0.4is fair.

0.4 <D< 0.7 is good.

0.7 <D< 1is very good.

Example of number 1 of items:

B, =10 ], =10

B.=5 J.=10

B 10 _

P, = f =51
= —EE = i:
Py = #Fp 10 0.5

D=P,— Px=1-05=05

The following is the computation of the discrimimat power for
item number 1, and for other items would use thmesdormula. The
obtained result states that D = 0.5 and after beaiagsulted to the
discriminating power category, it is found that tlesult is on the 0.40< D
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< 0.7. Thus, the items number one is on the gooel.l&he result of the
discriminating power of each item could be seereagjx.
2. TheData Analysisof Pre-request Test
a. The Data Analysis of Pretest Scores of the Experimental Class and
the Control Class

TablelV.1
The list of Pre-Test Score of The Experimental @odtrol Classes

Control Class Experiment Class

Total Total
No | Code Score No | Code Score
1 C-1 60 1 E-1 71
2 C-2 74 2 E-2 65
3 C-3 65 3 E-3 80
4 C-4 80 4 E-4 80
5 C-5 71 5 E-5 77
6 C-6 65 6 E-6 62
7 C-7 97 7 E-7 71
8 C-8 80 8 E-8 77
9 C-9 80 9 E-9 71
10 C-10 74 10 E-10 74
11 C-11 74 11 E-11 65
12 C-12 68 12 E-12 77
13 | C-13 68 13 | E-13 74
14 C-14 65 14 E-14 60
15 C-15 80 15 E-15 74
16 C-16 74 16 E-16 74
17 C-17 74 17 E-17 68
18 C-18 82 18 E-18 77
19 C-19 68 19 E-19 62
20 | C-20 65 20 | E-20 74
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21 | c-21 94 21 | E-21 68
22 | C-22 71 22 | E-22 77
23 | C-23 62 23 | E-23 62
24 | C-24 62 24 | E-24 68
25 | C-25 97 25 | E-25 62
26 | C-26 74 26 | E-26 68
27 | C-27 71 27 | E-27 74
28 | C-28 77 28 | E-28 65
29 | C-29 77 29 | E-29 71
30 | C-30 62 30 | E-30 74
31 | C-31 62 31 | E-31 62
32 | C-32 60 32 | E-32 65
33 | C-33 62 33 | E-33 71
34 | C-34 74 34 | E-34 97
35 | E-35 80
36 | E-36 65
37 | E-37 74
38 | E-38 62
39 | E-39 77
40 | E-40 74

b. The Normality Pre-test of the Experimental Class
The computations of normality use the computatio®xcel. The

result is stated below:

TablelV.2
Normality Test of Pre-test of Experimental Class
Class O .x ( —)z -\
O, X . - My -
Interval ' ' 1% ki = X 0.t x)
60-65 12 62.5 750 65.61 787.32
66-71 | 9 68.5 616.5 4.41 39.69
12-77 15 74.5 1117.5 15.21 228.15
78-83 | 3 80.5 241.5 98.01 294.03
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84-89 0 86.5 0 252.81 0
90-95 0 92.5 0 479.61 0
96-101 | 1 98.5 98.5 778.41 778.41
Z 40 2824 2127.6
Limit —| Zfor P(Zi) Size .
Class | f = | the Opportunities | Classes| E; (Q-EY w
Limit forZz forZz i
Class
- 30.231
59.5 | 11.73|-1.60 | 0.0548 0.1625 6.5016 9 4.6499
65.5 | -5.72| -0.78 | 0.2174 0.2976 11.9038 8.4320 @708
11.812
715 | 0.28 | 0.04 0.5150 0.2891 11.563 1.0216
775 | 6.28 | 0.86 0.8040 0.1490 5.9588 8.7542 1.4691
83.5 | 12.28| 1.67 0.9530 0.0407 1.6265 2.6456 1.6265
89.5 | 18.28 2.49 0.9937 0.0059 0.2345 0.0550 0.2345
95.5 | 24.28 3.31 0.9995 0 0.0000{ O 0.0000
Y 9.7100

With a = 5% and df = 7-1=6, from the chi-squardrdisition table,
obtained e
(9.71<12.59159). So, the distribution list is nokma

11.08. Because 2 iS

c. TheNormality Pre-test of the Control Class

lower than Xapie

The computations of normality use the computatio®xcel. The

result is stated below:

TablelV.3

Normality Test of Pre-test of Control Class

Class O X 0% (x\ - ;)2 0.(x - x)

Interval !

60-65 11 62.5 687.5 97.6609 1074.2699

66-71 6 68.5 411 15.07266 90.4359862

72-77 9 74.5 670.5 4.484429 40.3598616

78-83 5 80.5 402.5 65.89619 329.480969

84-89 0 86.5 0 199.308 0

90-95 1 92.5 92.5 404.7197 404.719723

96-101 | 2 98.5 197 682.1315 1364.26298
Z 34 2461 3303.52941
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~

2

31

'3

Limit —| Zfor P(Zi) Size ,
Class | X - X |the Opportunities | Classes | E; (Q-E) @
Limit for Z for Z i
Class
59.5 |13.12|-1.33 0.0911 0.1435 4.8784 37.4738 7.681
65.5 | -7.12| -0.72 0.2346 0.2202 7.48066 2.2099 0.295
715 | -1.12| -0.11 0.4547 0.2355 8.0073 0.9854 0.123
775 | 4.88 | 0.50 0.6903 0.1756 5.9690 0.9390 0.157
83.5 | 10.88 1.11 0.8658 0.0912 3.1008 9.6152 3.100
89.5 | 16.88 1.72 0.9570 0.0330 1.1223 0.0150 0.013]
95.5 | 22.88 2.33 0.9900 0 0.0000, 1
D 11.3713

With a = 5% and df = 7-1=6, from the chi-squardribstion table,

obtained e =

12.59159. Because

2%t is lower than

XZanid11,3713<12.59159). So, the distribution list ismal.

Experimental Class

The Homogeneity of Initial Data in the Control Class and the

Homogeneity test is used to find out whether theupr is

homogenous or not.

The computations of homogeneisg the

computation in excel. The result is stated below

Hypothesis
Ho: 0,=0,
Ha. o %0,
TablelV. 4
Homogenity Table
Source Variant Experiment Class Control Class
Total 2849 2469
n 40 34
X 71.23 72.62

Variant ($) 53.179 96.668
Standard Deviation (s) 7.329 9.832
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sample | % 7| 1/dk g Log 52 | 9KLOY | g« s
ni-1 S

Experiment] 39 | 0,026 53179 1,726 67,308 2073481

Control | 33 | 0,030 96,668 1,985 65514 3190,044

Total 72 132,8185264,025

5264 .,025

=== =73111

S? = Z (ni _1)32 -

B =(LogS?)x > (n, -1
=134, 21

X2 pume = (nIn10){B — E(dk)logs;
=2,3x{134,21 —-132,818]
=2,3x 1,389
=3,194
From the calculation above, we g&fauw: = 3,194 With a = 5%
and df = 2-1 = 1, obtain€&aszs = 3841, Becauset o... = 3,194 s
lower tharFzasze = 3841, (3,194<3,841). So, Ho is accepted and there is
no difference of the pre test variant from bothugp® It means that the
variant of both groups is homogeny.
. The Average Similarity Test of Pre-Test of the Experimental and the
Control Class
The computations of average similarity use the agtatppn in
excel. The result is stated below:

TablelV.5
The Result Average of Pre Test Score

Ho: 14 =14
H. 7
X~ %,
t=—p S:\/(m-l)sl“(nz-l)s;
i +n
S nl n2 nl 2-2
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criteria:

Ho accepted if _t(l‘yz”) <t<t(1‘y2”)

with a=5% and dk=n+n, -2 = 72
Sample g2 n S t
Experiments 71.23 | 53.719 40 83647 | -0.7124
Control 72.62 | 96.668 34
We get data
teount = -0.7124
liapel = 2.0000
So,

- t(o.975 )(70) <t< t(0.975 )(70)

With a= 5% and df = 40+34 — 2 = 72, obtairtedble = 2,000.
Becausé count is higher thart table (-0.7124> 2,000). From the result, it
can be concluded that there is a difference inesttsd scores. The
hypothesis is accepted.

The Data Analysis of Post-request Test
The Data Analysis of Post-test Scores of the Experimental Class and
the Control Class

TablelV.6

The list of Post-Test Score of The Experimental @odtrol Classes

Total
No Code | Total Scrore | No Code | Score

1 E-1 88 1 C-1 77
2 E-2 85 2 C-2 80
3 E-3 91 3 C-3 77
4 E-4 97 4 C-4 80
5 E-5 97 5 C-5 77
6 E-6 82 6 C-6 74
7 E-7 80 7 C-7 100
8 E-8 88 8 C-8 71
9 E-9 88 9 C-9 80
10 E-10 94 10 C-10 85
11 E-11 80 11 C-11 85
12 E-12 91 12 C-12 74
13 E-13 91 13 C-13 85
14 E-14 88 14 C-14 80
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15 E-15 94 15 C-15 74
16 E-16 97 16 C-16 88
17 E-17 97 17 C-17 82
18 E-18 97 18 C-18 74
19 E-19 80 19 C-19 85
20 E-20 88 20 C-20 80
21 E-21 97 21 C-21 100
22 E-22 85 22 C-22 80
23 E-23 91 23 C-23 65
24 E-24 88 24 C-24 80
25 E-25 91 25 C-25 100
26 E-26 77 26 C-26 85
27 E-27 91 27 C-27 85
28 E-28 91 28 C-28 82
29 E-29 91 29 C-29 82
30 E-30 85 30 C-30 74
31 E-31 91 31 C-31 74
32 E-32 77 32 C-32 82
33 E-33 85 33 C-33 77
34 E-34 91 34 C-34 77
35 E-35 91 total 2751
36 E-36 80 average80,9117647
37 E-37 91
38 E-38 88
39 E-39 91
40 E-40 91

total 3556

average 88,9

b. TheNormality Post-test of the Experimental Class
The computations of normality use the computatioexcel. The

result is stated below:

TablelV.7
Normality Test of Post-test of Experimental Class
Class - _
O, X; O; % (Xi - X)2 OI.(xi - x)2
Interval
77-79 2 78 156 104.04 208.08
80-82 5 81 405 51.84 259.2
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83-85 4 84 336 17.64 70.56

86-88 7 87 609 1.44 10.08

89-91 14 90 1260 3.24 45.36

92-94 2 93 186 23.04 46.08

95-97 6 96 576 60.84 365.04

Z 40 3528 1004.4

Limit Z for P(zi Size 2

Class _ | the O(pp)ortunities Classes Ei @-g) (O'_EiE')Z

Y- | Limit for Z for Z '

Class

76.5| -12.40 -2.22 0.0134| 0.0332| 1.3265| 0.4536| 0.3420
79.5| -9.40 -1.68 0.0465| 0.0799| 3.1955| 3.2562| 1.0190
82.5| -6.40 -1.14 0.1264| 0.1454| 5.8140| 3.2906| 0.5660
85.5| -3.40 -0.61 0.2718] 0.1998| 7.9901| 0.9803| 0.1227
88.5| -0.40 -0.07 0.4715| 0.2074| 8.2946| 32.5517| 3.9244
91.5| 2.60 0.46 0.6789| 0.1626| 6.5044| 20.2899| 3.1194
94.5| 5.60 1.00 0.8415 0| 0.0000 4| 0.0000
> 9.0935

With a = 5% and df = 7-1=6, from the chi-squardrdisition table,

obtained Xue = 11.08. Because %%un is lower than Rape

(9.0935<12.59159). So, the distribution list ismat

The Nor mality Post-test of the Control Class

The computations of normality use the computatio®xcel. The

result is stated below:

TablelV.8
Normality Test of Post-test of Control Class

Class - _

O, X; O|X| (Xi - )()2 Oi.(x‘-x)2
Interval
65-70 1 67.5 67.5 175.143 175.173
71-76 7 73.5 514.5 52.34948 366.4464
77-82 16 79.5 1272 1.5259%2 24.41522
83-88 7 85.5 598.5 22.70242 158.917
89-94 0 91.5 0 115.8789 0
95-100 3 97.5 292.5 281.0554 843.1661
101-
107) | O 104 0 541.2465 0
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\ | 34 | | 2745 | | 1568.118
Limit — | Zfor P(zi) Size ( y
- Oi - E;
Class £ X the Opportunities | Classes E; (q_Ei)z E,
Limit forZ forZ
Class
64.5| -16.41 -2.12, 0.0168| 0.0720| 2.4490| 2.0995| 0.8573
70.5| -10.41 -1.35 0.0888| 0.1951] 6.6336| 0.1342] 0.0202
76.5| -4.41 -0.57 0.2839| 0.2975| 10.1157| 34.6249| 3.4229
82.5| 1.59 0.21 0.5815| 0.2556| 8.6904| 2.8573| 0.3288
88.5| 7.59 0.98 0.8371| 0.1237| 4.2049| 17.6815] 4.2049
94.5| 13.59 1.76 0.9607| 0.0337| 1.1445| 3.4428| 3.0081
100.5| 19.59 2.54 0.9944 0| 0.0000 9
> 11.8422

d.

With a = 5% and df = 7-1=6, from the chi-squardribstion table,
obtained Xwe = 12.59159. Because’Xun is lower than Xape (11,
8422<12.59159). So, the distribution list is normal

The Homogeneity of Initial Data in the Control Class and the

Experimental Class

Homogeneity test is used to find out whether theupgr is

homogenous or not. The computations of homogeneisg the
computation in excel. The result is stated below
Hypothesis
Ho: 0,=0;
Ha. O %0,
TablelV.9
Homogenity Table
Source variant Exsperiment Control
Total 3556 2751
n 40 34
X
88.90 80.91
Varians (3) 31.323 59.659
Standart deviasi (S) 5.597 7.724
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Sample | dk=p-1 | 1/dk 5 Log S2 g‘é'“’g dk * SP
1 39|  0.026] 31.323] 1.496| 58.339] 1221597
2 33| 0.030| 59.659] 1.776] 58.597| 1968.747
Total 72 116.936 3190.344

82

- Z (ni _1)32 -

Y (n-1)

3150.324

=44310

B =(LogS?)x > (n, ~1)

=118

2

count

, DO

= (nln10){B — X(dk)logS’

=2,3x{118,55 - 116,936

= 2,3 % 1,389

=3,194

From the calculation above, we &t = 3,194 with o = 5%

and df = 2-1 = 1, obtainedras: = 3841 Becausetioun: = 3194 s

lower tharFzasze = 3841, (3,194<3,841). So, Ho is accepted and there is
no difference of the pre test variant from bothugp® It means that the

variant of both groups is homogeny.
The Average Similarity Test of Post-Test of the Experimental and the

Control Classes

The computations of Average Similarity use the cotapon in

excel. The result is stated below

Hypothesis:

Ho

|_ll:

M=K
7 1y

1)312 + (nz _1)322

S:\/(nl-

m+n,,
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criteria:
Ho accepted if

)< <
X

with  a=5% and dk=n+n,-2 = 72

TablelV. 10

The Result Average of Post Test Score
Source Experiment| Control 2
. S S t

Variant
Mean 88.90 80.91
Variant 31.3231 59.6586
S E 5067 7 7939 44.3102 | 6.6566 5.1446
n 40 34

With all= 5% and df = 40+34 — 2 = 72, obtainegye= 2,000.
Becausdcont IS higher thart table (5, 1446> 2,000). klis not accepted
and H is accepted. It means that teaching reading uskagn word-
webbing in increasing reading comprehension is ebethan using
conventional method. From the result, it can bechated that there is a
difference in students’ comprehension in news itext score between
students taught using team word-webbing and treasght using non-team
word-webbing.

Observation Interpretation on Understanding Demonstrated by the
Students

The observation was carried out during the treatni@cused on
the students’ comprehension in News Item Text. Gtwecern was given
by viewing the students’ observable behavior apmzkan class within
teamwork phase. In this case, the researcher sawaittiveness, through
the questions pertaining to news item text.

Questioning, here, has many purposes in teachiading news.
Firstly, the question which was given to the stusiggrovided the teacher
information about their understanding on news itkiring the research or
treatment and enabled the teacher to measureuhéarstanding through

the answers they gave whether correct, incorrepadrally correct.
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While during the teamwork, the observation resulbven that it
was about 60%-80% of students who gave explanathmhanswered the
guestion on given material correctly and about kss 20% answered
incorrectly to other students’. Observation showvieat score of control
class was 60% while experiment class was 80% olMvel that experiment
class was higher than control class in class agtdaring the research is
conducted. The score specification is in appendix.

Discussion of Research Finding

This section discusses the research findings winielude
discussion and the advantages of the treatmeny; &teethe use of team
word-webbing in teaching reading news item text.

. Discussion

Based on the finding of the research, it was fotlnad the students
who were taught by using team word-webbing havenlegroved in
parts of reading comprehension than the students wére taught by
using conventional method because the studentsnene taught by using
team word-webbing can memorize parts of meaningdwthrough
webbing so that the students easily to absorb titenml.

Based on the result of the pre-test before teandw@bbing was
implemented, the ability of students to comprehiredtext was lower than
after team word-webbing was implemented.

After getting treatment and post-test was condydtedas found
that there were significant differences betweeneérpental group and
control group where the post test score of experiategroup was higher.
The improvement of the students who taught usiaghtevord-webbing is
higher than the improvement of students who tawgtitout team word
webbing. It can be seen the mean pre test scarendifol class was 70, 18,
and in the post test was 80, 91 while the meanref tpst score of
experimental class was 71, 23 and in the poswtast88, 9. It means that

the most improvement is in experiment class.
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The result of the data analysis showed that thetegly of using
team word-webbing in teaching reading news itent seemed to be
applicable for the tenth grade students of MA D#@mianah. The strategy
encouraged the students to be more active and atedivin teaching
reading, especially in text type. And also can $edun teaching variety of
language.

The testing hypothesis indicated that the experiaiagroup was
significant higher than the control group. The mescore of the
experimental group was 88, 9 and the control gneap 80, 91, and the
differences between the two means were 8.00. Tést score showed that
tcountS higher thangdpie(5.144 > 2.0000) witlx = 5%.

There are differences the students atmospherevibeg taught
using team word-webbing between who were taughtowit team word-
webbing, it can be seen in teaching learning pydésy are as follow:

a. Inthe experimental class
When the teacher taught using team word-webbingpakes the
students more interested in learn. In teachingleaching process
the students more enjoy and relax, so they canefxpeess their idea
in the classroom. When the teacher asked studentsrprehend
the text, most of them can comprehend it by showivgwebbing,
when teacher gave them assignment; the studeniswdith fun.

b.  Inthe control class
When the teacher using conventional method, jugilagx the
material and gave them assignment, the student&ntain not
focused on the lesson. Students get bored; it miéless difficult to
absorb the material. Students are also lazy whather gave them
some assignments. And the last they cannot imprawar

comprehension about news item.

Based on the statement above, it is proven thatetheas a

significant different achievement between the stislertho were taught by
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using team word-webbing as a medium of teachindinganews item and

the students who were taught by using conventioethod.

. The advantages of the treatment

Here the researcher showed some factors that nmfjhénce the
result of the experiment. The factors were the athges in using team
word-webbing in teaching reading comprehension.nTe#rd-webbing
have some positive influences in teaching partspeech. There are some
reasons why using team word-webbing are effectiveteiaching and
learning English, especially in teaching readinigeyl are as follows:

a. Team Word-Webbing teaches students to be lesswwaathe teacher
and more reliant on their own ability to think, $eek information to
other source and to learn for other students

b. Team Word-Webbing encourages students to verb#ie ideas and
to compare them with the ideas and feeling of osihedents

c. Help students to learn respect for one anotherhgths and imitations
and to accept these differences

d. Working in Team Word-Webbing teams help empowedestits to take
greater responsibility for their own learning arat their learning of
others

e. Team Word-Webbing is an effective strategy for hgvistudents
achieve a wide range of academic and social outsomeluding
enhanced achievement, improved self esteem, pesititerpersonal
relationship with other students, improved time agement skill, and
positive attitudes toward school

f. Having students work together result in much meegring then occurs
when students work alone, competitively, or indixady

g. Team Word-Webbing can lead to students to beirgjrited less often,
getting confused less often, feeling more intellaly challenged,
feeling more actively involved in learning and lowd forward to class

more often
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h. The interaction that occurs during cooperativeraay activity help to
motivate students and stimulate their thinking, aiedv education as a
life-long process rather than short-term training

In contrast, not all students have well in readtmgylish, especially
text type. Those are caused by some factors tHaente the students in
learning English. They are as follows:

a. The perception that English is the difficult lessorschool.

b. The perception that English is unused in daily ersation

c. A poor motivation from the students to learn Ergkeriously

d. There is no big willingness to learn English

e. Conventional method that makes students feel boring
In this research, the researcher used the team-webding to

increase students’ reading comprehension in neas itext. So, the

research findings are only representative in tlchiosl. The researcher
hopes that more researches will be done by thetherove this method
in learning and teaching English.

Limitation of the Research
The researcher realizes that this research hadbeeh done

optimally. There were constraints and obstaclesedaturing the research

process. Some limitations of this research are:

1. Relative short time of research makes this reseeoctid not be
done maximum.

2. The research is limited at MA Darul Amanah Sukoiegndal. So
that when the same research will be gone in ottlerds, it is still
possible to get different result.

3. The implementation of the research process wasslas®th; this
was more due to lack of experience and knowledgethef
researcher.

Considering all those limitations, there is a ndeddo more
research about teaching reading text type. Sontbre optimal result will

be gained.
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